
Project Appraisal 



Project Appraisal 

 Costs 

– Direct Costs: Incurred by the PIB 

– Indirect Costs: Incurred by other than PIB 

– Intangible Costs: Non-Quantifiable Costs 

 Benefits 

– Direct Benefits: Benefits Accruing to PIB 

– Indirect Benefits: Accruing to Other than PIB 

– Intangible Benefits: Non-Quantifiable Benefits 



Costs 

 Who is the PIB? 

Tangible Costs Intangible Costs 

Direct Costs Indirect Costs 



Benefits 

Tangible Benefits Intangible Benefits 

Direct Benefits Indirect Benefits 



Different Scenarios 



Appraisal Criteria 

 Pay-back Period 

 Average Proceeds per unit of outlay 

 Net Present Value 

 Internal Rate of Return 

 Benefit-Cost Ratio 



Hypothetical Projects 

Project Year

Capital 

Cost

Operational 

Cost

Value 

of 

Output

Net 

Value

1 50000 10000 30000 20000

2 10000 35000 25000

3 10000 30000 20000

1 50000 10000 30000 20000

2 10000 35000 25000

3 10000 30000 20000

4 10000 30000 20000

1 50000 10000 0 -10000

2 25000 10000 35000 25000

3 10000 40000 30000

4 10000 40000 30000

5 10000 40000 30000

A

B

C



Standing of the projects 

Pay Back 

Period

Average 

Proceeds BCR NPV IRR

A 2.25 0.43 1.12 9256 33%

B 2.25 0.425 1.29 24282 54%

C 4 0.28 1.07 7823 15%



Quantities at New Port 

0 1 2 3 4 5 6 7 8 9

Fertilizer 0 360 380 415 450 485 520 555 590

Iron Pellets 0 770 770 770 770 770 770 770 770

Sponge Iron 0 275 275 275 275 275 275 275 275

Tobacco 0 50 50 50 50 50 50 50 50

Misc 0 20 20 20 20 20 20 20 20

Phosphoric Acid 0 570 570 570 570 570 570 570 570

Liquid Ammonia 0 70 70 70 70 70 70 70 70

Petroleum 0 378 397 417 438 459 482 507 532

Quantities ('000 tons)



Investment and Returns –

KPIC 

Commodity Handling Charges (Rs. Per Ton)

Fertilizer 150

POL 50

Food Grains 120

Iron Ore 60

Iron Pellets 250

Sponge Iron 250

Tobacco 120

Miscellaneous 120

Phosphoric Acid 50

Liquid Ammonia 60

KPIC has decided to use a deprecioation reate of 10 percent using written down value method.

Based on the current tax structure, the effective rate of tax for KPIC will be 20 percent.

It is estimated that the annual maintenance cost will be 10 percent of the capital investment

Appendix II.  Investment and Returns Estimated by KPIC

Year-wise Investment

Commodity-wise Handling Charges

It is estimated that the total investment will be Rs. 990 million, of which Rs. 605 million will be incurred 

during the first year.

The port will be able handle the cargo after the completion of the investment.

It is estimated that the operating cost will be 20 percent of the revenue acrued from cargo handling.



Revenue from Operations 

1 2 3 4 5 6 7 8 9

Fertilizer 0 54000 57000 62250 67500 72750 78000 83250 88500

Iron Pellets 0 192500 192500 192500 192500 192500 192500 192500 192500

Sponge Iron 0 68750 68750 68750 68750 68750 68750 68750 68750

Tobacco 0 6000 6000 6000 6000 6000 6000 6000 6000

Misc 0 2400 2400 2400 2400 2400 2400 2400 2400

Phosphoric Acid 0 28500 28500 28500 28500 28500 28500 28500 28500

Liquid Ammonia 0 4200 4200 4200 4200 4200 4200 4200 4200

Petroleum 0 18900 19850 20850 21900 22950 24100 25350 26600

Total 0 375250 379200 385450 391750 398050 404450 410950 417450

Year

Value in Rs. '000



Cost Benefit Analysis 
0 1 2 3 4 5 6 7 8 9 

Investment 605000 385000 

Revenue 0 0 375250 379200 385450 391750 398050 404450 410950 417450 

Operating Cost 75050 75840 77090 78350 79610 80890 82190 83490 

Maintenance Cost 99000 99000 99000 99000 99000 99000 99000 99000 

-605000 -385000 201200 204360 209360 214400 219440 224560 229760 234960 

Depreciation 99000 89100 80190 72171 64953.9 58458.5 52612.7 47351.4 

PBT 102200 115260 129170 142229 154486 166101 177147 187609 

Tax 20440 23052 25834 28445.8 30897.2 33220.3 35429.5 37521.7 

PAT -605000 -385000 81760 92208 103336 113783 123589 132881 141718 150087 

Depreciated value of the asset 563837.5 

Salvage Value 426162.5 

Cash Flow -605000 -385000 180760 181308 183526 185954 188543 191340 194331 197438 426162.5 

Discount rate 0.1 

NPV 114,730.31  

IRR 12.34% 

Operating cost 20% of Revenue 

Depreciation 10% 

Tax rate 20% 



CBA – Revised Plan 
0 1 2 3 4 5 6 7 8 9 

Investment 605000 385000 

Revenue 0 0 262850 274300 289550 305350 319600 329900 340450 351300 

Operating Cost 52570 54860 57910 61070 63920 65980 68090 70260 

Maintenance 

Cost 99000 99000 99000 99000 99000 99000 99000 99000 

-605000 -385000 111280 120440 132640 145280 156680 164920 173360 182040 

Depreciation 99000 89100 80190 72171 64953.9 58458.51 52612.66 47351.39 

PBT 12280 31340 52450 73109 91726.1 106461.5 120747.3 134688.6 

TAX 2456 6268 10490 14621.8 18345.22 21292.3 24149.47 26937.72 

PAT 9824 25072 41960 58487.2 73380.88 85169.19 96597.87 107750.9 

Depreciated value of the asset 563837.5 

Salvage Value 426162.5 

Cash Flow -605000 -385000 108824 114172 122150 130658.2 138334.8 143627.7 149210.5 155102.3 426162.5 

Discount rate 0.1 

NPV -163,244.61 Cost to Society= 

277,974.9

3  

IRR 7% 

Operating cost 20% 

of 

Revenue 

Depreciation 10% 

Tax Rate 20% 



 Questions? 


